T AMRASE SLE T PR ER
T il Bl Ll % Hfr 14
+T
R ER 7 m3 326.
HEIRRE £ W<2.5 m3 75.
R BIHTRIRInS, E4nkili 3 36.
R e RMEGERE IR | m3 115.
FEmEIE A7 m2 249.
b3 v uB:] %+ +b m3 74.
IS IE L T
ay ) — NEUE A ) m3 17.
" AT m3 5.
a7 Y — MRSy HEAHHEY) m3 18.
" A m3 6.
URRRE AR 2= PU-240 m 12.
i 600 xﬁoﬂoLx g0 ™ 3
e S VU ¢ 150 n 10.
” VU ¢ 200 m 5.
” VU ¢ 250 m 20.
BE 7T TEHILSY m3 0.
b oa— ME HP ¢ 250 n 3.
Ui HP ¢ 500 m 11.
JL—FrriE | K50 X600 58 3.
n 7K #5550 X 1000 b5'q 2.
! Soo*fé%(l)o)ﬂ e 2.
R A= 120X 150 m 9.
PENDS S H=1000 m 2.
” H=1500 m 14.
7 = AE H=1800 m 25.
N H=2000 m 52.
VTS S H=1800 W=800 & L.




HARBRARE JLE T HERTER
T i il ARl % Hfr o=
HATE L 1AL 2% H=1100 m 12.0
H—FL— i Gr-C-2B m 20.6
=77 —E = 1.0
AA ba—ufk | H#AX 3ARM A 8.0
7%7%% DL t=15cmA F n 92.0
T AT 7 b N HuE t=3cm m2 64.9
T AT 7 b N HuE t=5cm m2 81.3
T AT 7 SRSy m3 6.0
PEkE T
7L ¥ ¥ A NLELpERE
RO %ﬁg FALEIEEE H800 X B750 12000 & @ 2
” H900 X B850 12000 | 3
n H900 X B850 12000 @ & 10 T
” H1000 X B850 12000 25
" H1000 X B850 12000 & 1 NI
" H1100 X B1000 12000 & @ 1
HAHR
/LR FHEH=0. 8~1. Om m3 6.1
Ak FHH=1. 0~2. Om m3 54. 6
SEIH=2. omEA | m3 6.8
BRNE Y
/N SE¥JH=0. 8~1. Om m3 3.5
) Ak SEHIH=1. 0~2. Om m3 13.7
SE¥IH=2. omLA_E m3 16. 2
H bt m2 13.9 | ek o BERE 7 = o R JEHE 2 1)
Bhavry—b  TEZ0C R 0.1
gt m2 1.5
P EY) T
TR T
701/*’“? RURLK PU-240 n 7.0 | 7v—F rER
7Ly A RUALK BF-300 m 31.8
7”1/%)v; [NIEEYS BF-400 n 98. 6
7”1/%)v; [NIEEYS BF-500 n 4.5
T B450-1620 m 1.7




HARBRARE JLE T PR ER
T il Bl Ll % Hfr 14
SEKBET
T P~H450 X 450 (G
BUGHTH KM 500X 700 X H500 1
A 900X 70400>(§ H500~
BiGFT AR KA 500X 500 X H800 i
BUGF TR KB 500 X 500 X H800 1
BIRT
e == g 7 VU ¢ 150 m
e =—n3g 7 VU ¢ 200 m
boo— N 200 m
boo— N ¢ 500 m
Ea— i P?gRC—%ﬁO m
M= 2 ) — b T
HIEE ¢ 500 m
AKEEARFE L
JE#E =7 Y — k| B=500mm t=150mm m
Eoar s U—h t=100m m2
FHIK I B
R 17 m3
(3= 2% m3
(3= 37 m3
[ 3=vg 471 m3
PEEE T 18-8-40BB fERT




PEhg T HERLR
oAl bt ] B HANT &

HIE A
G T . oo m2 34
WRIEET ATy (20) :

t=10cm

e A T WSS s0) | M2 34,
TREEAE T 5oy ey | M2 34.

HiE LS

. t=3cm
HET b e 1y | M2 212.
-10
TREEAR T 55y ey | M2 212.
SO EELEE I
FIEGT . oo m2 11
WRIEET ATy (20) :
T A T 75y :/v\rtlgcg (RC-40) m2 11.
fxA L
HHERR T 0 Y 7 17 m 65.
fxA1EIH m 8.
HEE AMAIHR W=15cm He m 67.
L H W=15cm He m 28.
%
k=g N A AR B B AH




